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for the questions

1. Answer the following questions (any ten) :
1x10=10
oo 2pTEs el fordt (R G w=b)

(a) What is social indifference curve?

e Faeers @ 9

(b) Define property rights.
e ST vigel fi |

(c) What is monopoly power?
GFCHoA T IS [ 2
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(2)

(d) What is product differentiation?

SRE Reerieee e & e 2

(e} Define saddle point.
o famga ket i o

(/)  What is payoff matrix?
ofen e &9

(g9 In what type of market we get
asymmetric information?

(I F[ RS SRS Aol RREC Cof
T2

(h) Give an example of positive externality.

«ft g qfRree Trread fa |

(i) What is first-degree price
discrimination?

4 T1@F ¥ Reen i @ @ 2

() What is the basic difference between
oligopoly and duopoly?
TGO IGH ¥ ASH IWET qwe
el 6 2

(k) What is shutdown point?
S 7 6 2
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(3)

() Define cartels.

TS g AL fwa

(m) What is exclusivity?
3 Iferca & qom 2
(n) Write one difference between private

goods and public goods.

oo T SF H9PI9) GIF AEwS @bl A2
foram 1

(o) State Bertrand’s model of oligopoly.
TG FHRTOR I oGH! TS 41 |

2. Answer the following questions (any five) :
_ 2x5=10
o RS Ted fordl (R Gt #Hioht)

(a) Define Pareto efficiency.

CoICa5’ TR @ e |

(b) Write two features of public goods.
JerEAl I 1 CAET o |

() How does concentration ratio determine
degree of monopoly power?

FEF SACS GIolA IHET ST @l
S RECICLIEIC R
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(4)

(d) What is two-person zero-sum’ game?
-G H-Q@F’ =1 2

() What is meant by signaling in
a market?

TR AT Jfeiee & @ 2

(f) Distinguish between production
efficiency and exchange efficiency.

Tedme wwel we [T wEeR qEe w1
forar 1

(g) What are minimax and maximin
strategies?

‘T = ‘@R & 2
(h) What is third-degree price
discrimination?

vor IR 71 Reeniead 52

3. Answer the following questions (any four) :
5x4=20
©oTq 2PPTYRS Ted fordt ([ e wifsht) ¢

(@) Explain how efficiency can be achieved
in exchange through Edgeworth box
diagram.

& e TG Pag [ [EE vFel @y
{19 #Nf4, 2T 4T |
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(S)

(b) Briefly explain the causes of market
failure.

TG REeTor FRPRR 503 W0 41 |

(c) Explain the concept of excess capacity
under monopolistic competition.

GHIAFR  IEEe  Teoe  SfeRe  wHed
{IETCHT = T |

(d) When is price discrimination possible
and profitable? Explain.
™ Rened @ T80 WE AeEEe =W 2
I AT

(e) Explain the concept of Prisoner’s
Dilemma.

PR RYE LI=KETCo! 0T 4 |

() Distinguish between perceived and
proportionate demand with the help
of a diagram.
foqq 7@ SERFEFe O Sgefes  wiRwE
YFEITCOT M 4 |

(g) Explain how the growth of monopoly
power can lead to market failure.

GFCHOAT ITRY BTG (FCAd I [FgeroN
2 3, T 4 |
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(6)

(h) Do you think monopolist always
earns supernormal profit? Justify
your answer.

G A ? (O Tesq Ife fran |

4. Answer the following questions (any four) :
10x4=40
T ePPTRy el fordt (R e wif<en)

(a) What is production-possibility frontier
(PPF)? How can resources be allocated
efficiently through PPF? State Pareto’s
third condition for optimality. 2+6+2=10
Teopme sieifer @4t (P P @%.) 52 Besme
Aol @HR RS FE [Rewd @ewed
TROd 9 A7 A6’ AN R
ToI HECHT fort |

(b) State and explain Coase’s theorem.
What are the limitations of Coase’s
theorem? 6+4=10

F5'9 TGO TS WF AR F9 | 3 4R

Aaergz & &5 7

(c) How can monopoly power be controlled
and regulated? Explain. 10

GICoAT W MM (e g ure oififie
3R =M1 2 0t 4w |
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(7)

(d) Explain how prices and output can
be determined wunder monopolistic
competition in the short run and
long run. 10

G TS W& HFE T SIS HIF
TS @CCT Hmed TR nfE, w549 |

(e) Explain diagrammatically Cournot’s
model of duopoly equilibrium. 10

T 63 T T SRR SR F 4 |

() Write two applications of game theory.
Explain the method of solving
a two-person zero-sum game. What are
the limitations of game theory?  2+6+2=10

47 g7 oI eTa o | @bl RS -
T (4 (e NG FERE S,
41 | (Y1 ©Gd HCTARENR Sad 41 |

(g) What is information asymmetry? How
does information asymmetry affect
business? Give two examples of
markets where information asymmetry
prevails. 2+6+2=10

MR Pl 7 PR EEER THES
T oo| R ? W AN SRS X3
IS T e |
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(8)

(h) Explain why there is no supply curve
under monopoly. Explain the case
of dumping in international price
discrimination. 5+5=10

G ek B e GO 1 e 2 e M ) o

IR T4 | IEEIEF T@Ee w9 [roneacd
CFAS TP YIFECE 10T 941 |

() Describe how a monopolist will
discriminate the price in the markets
with different elasticities of demand
and attain equilibrium. 10

o1 fon oI fRfogrmrel 3 Iure Reewrt
GHEHA TGS (WA ST S =,
ST 4 |

() Compare and contrast Bertrand
and Stackelberg’s equilibrium under
oligopoly. 10
TRTFOR RS IGES qF B
ST el S A1 GTeAT |

* Kk Kk
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